Revised-Answer key

ISRO SATELLITE CENTRE
Answer key of the written test for selection to the post of Photographer
held on 27/11/2016.
(Advt. No. ISAC.02:2016 — Post No : TE-12)

| Answer Key
| SeriesA ||  SeriesB ||| SeriesC | |  SeriesD
Question || Correct Question || Correct Question || Correct Question || Correct
No. Option No. Option No. Option No. Option
L 01 JA |0 JA | o D || 01 JA
L 02 JC || 0 JA || 0 |B || 02 |D
. 0 |A || 03 |JA || 0 |B || 03 |B
| 04 |B | 04 JC || 04 A || 04 |A
. 05 |B ] 05 D | 0 |A || 05 |D
| 06 A | 06 JA J| 06 |C || 06 |C
o7 /b || o7 Jc | o7 b || 07 |A
| 08 |D || 08 D | 08 JC || 08 |C
L 09 Jc | 09 |B || 09 JA || 09 |A
| 10 |A || 10 |B || 120 |JA || 10 |B
L 11 Jc 1 Ja 11 B 11 |C
| 12 J¢ || 12 |]A || 12 Jc || 12 |D
. 138 |B || 18 |Jc || 18 Jc || 138 |B
| 14 ¢ || 14 |B || 14 JA || 14 |C
| 15 |B |15 Jc || 15 JC || 15 |A
. 16 |A || 16 |c || 16 |D || 16 |B
17 b 17 A 1 A 17 A
| 18 |A || 18 |D || 18 JCc || 18 |C
19 A |19 |B |} 19 JA || 19 |C
20 jc || 2 Jc |l 2 |B || 2 |A
21 b | 21 b | 21 b || 21 |A
22 |B || 22 Jc || 22 |A || 22 |D
. 28 |c || 28 |JA || 28 |b || 238 |B
. 24 |D || 24 |D || 24 |D || 24 |A
. 2 |B |2 |A || 2 Jc || 25 |D
| 26 |D || 26 |A || 26 |C || 26 |A
L 27 |JA || 22 |D || 27 |B || 27 |B
. 28 |C || 28 |B || 28 JA || 28 |C
L 29 |JA |2 B || 29 JA || 29 |C
30 A 30 C 30 B 30 D
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Series A Series B Series C Series D
Question || Correct Question || Correct Question || Correct Question || Correct
No. Option No. Option No. Option No. Option
| 3 Jc |8 b |3 |A || 3 |B |
| 32 |B || 8 Jc || 3 |A || 3 |B |
| 38 JA |8 JA [ 3 Jc || 3 JCc |
| 34 |B || 3 |B || 3 |B || 34 |[B |
| 3% |B || 3 |c || 3 |B |3 |A |
| 3% |B || 3 |B || 36 |C || 3 |[B |
. 37 |A || 3 |B || 3 |D || 8 |B |
| 38 |B || 38 |B || 38 |B || 838 |C |
| 39 |bD || 3 J|A || 3 B |3 |A |
| 4 JC || 4 B || 4 |B || 40 |D
L4 Jc 4 JA [ 4 Jc || 4 JCc |
L 42 |A || 4 Jc || 4 |Jc || 4 |C |
| 43 ¢ [ 4 |A || 4 Jc || 4 |A |
L 44 JCc 44 |A |4 |A || 4 JC |
| 45 |C || 4 Jc || 4 |A || 4 JC |
| 46 |C || 4 Jc || 46 |C || 46 |A |
L 47 ¢ | 4 Jc || 4 |A || 4 |A |
| 48 |A || 48 |C || 48 |C || 48 |C |
L 49 |JA || 49 |C || 4 |C || 49 |C |
| 50 Jc || s Jc || 5 Jc || 5 JC |
| 51 JA || 51 |B || 51 JC || 51 [AorB]
| 52 |A || 52 |c || 5 B || 5 |C |
| 58 JA |58 |JA [ 58 |C || 5 |B |
| 54 B 5 Jc [ 5 |A || 54 |A |
| 5 € || 5 JAoB| | 5 |A || 55 |A |
| 5 B |5 JA || 5 |AorB|| 5 |A |
L 57 A s B |5 |A || 5 |A |
| 58 JA | 58 |A || 58 |A || 58 |[B |
| 59 Jc 5 JA [ 5 |B || 59 |A |
| 60 JAorB| | 60 JA || 60 A || 60 JC |

Answer given in yellow colour indicate the change in answer.
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